S ——

HFDT EB=F

ERZH PR

A F R A
#itiomNE LW
12_FE..

84 MNP EERINIE

. SInX
i | | ———— |
Xx=>0 X

= . Iim(1+i) =g

X—>0 X

*REl iR BRI M AE



§4 PN EZAIRBR

Stk
N EEERYRRETN R

HFEoth B=F HRERIE

SEHE IR



§4 PN EZAINRBR

1 lim S'?(X 1

Xx—0

ik A sinx < x <tan x (O<x< ) B DA

1< X 1 (1)

SinX oS X
AELFHEAREXIRERE, B

0<|x|<§lﬁ, (1) KA.

\ - X
A% liml=lim—— =1, BTBA lim——=1
Xx—0 x—0 COS X Xx=>0 SN X

B limSNX 1
X

X—0

HFEDh B=F REMRR

SEHE IR



54 PN EZROIRIR lim 310X

BlL sk lim 3%

X—>7 X—n
ik & t=x-m, W sin x =sin(t + x) = —sint,

. SINX . —=SInt
lim =lim =
X=>1 X — 7T t—0 {

-1.

HFEp B=F BEARIR

SEHE IR



54 FAEEHIRIR lim S0 _

X

. .. arctanx
B2 K lim Y

X—0

ik & t=arctanx, x=tant, N
arctanx t

lim —lim- % —1im- ' .limcost =1.

Xx—0 X t—0 tant t—0 Slnt t—0

.« .. 1—C0SX
3 3K lim .

X—0 X

X

1—COs X 2sin”
fi# lim ,— =1lim =lim
X—0 X x—0 X2 x>0 9

HFEp B=F BEARIR

SEHE IR




2 I|m(1+ 1) =

X—»00

UE RATAFIED: X
lim (1+1) =e M lim (1+1) =e.
X—>+00 X X —00 X

W B R AR
f(x)=(1+i)’ n<x<n+l n=12,--;
n+1

n+1
Q(X)=(l+1) - n<x<n+l n=12 --
N

HFEDh B=F REMRR

SEHE IR



f(x)< (1+)1()X <g(x), xe[l,+x).

5%

lim f(x)= I|m(1+ 1) =e,
X—>4-00 N— 00 n+1

lim g(x)= Iim(1+ 1)n+1 =e,

X—>+00 n—o N

BT LA B Bk FR A E i vE, 52
lim (1+1) =e, (2)

X—>+00 X

Hx<0B, wx=-y,y>0,M1
WSO S=5 HERE

SEHE IR



§4 PN EZAINRBR

KA X > —o B, y— +0o0, BT

X y-1
lim (1+1) = lim (1+1) (
X—>—00 X y—>+o0 y_l

XA T lim(1+1) —e.

X—»00 X

im(L+1)t =e.
t—>0

LR AF, ARQ)EER)AEFH

HFEQIT B=F HLRR
B E Rt

Y 8
gy
\l<1
/13

. im=—= - :
ol ) L
X y y—-1

Y %é\t=i, Mx — off,t — 0. FHILA[E

) 1E H

(3)



§4 PN EZAINRBR

4 ﬁ%lxiirg(1+ 2X)%.
iR HAR (3),

lim(1+ 2x)§ =lim

2
lim X_)0[(1+ 2x)21X} —e?,

515 ﬁ‘?lxigg(l—X)i-
fi# Iim(l—x)§ :|im|:(1_x)_>1<i|_ =e"

S X— 0

HFEp B=F BEARIR

SEHE IR



Hl6 3K lim (1+1—12) .

N— oo

fi# )\‘jb(1+1—12)n <(1+1)n > €,

-+ lim 1+%) =g, n_21—>0, FIr A 'E%)ﬁ)ﬂﬂ,

HFEQIT B=F HLRR
B E Rt



§4 PN EZAINRBR

HHESE, KB
Iim(1+1—12) =€
Nn—o00 N N

HFEoth B=F HRERIE

SEHE IR



